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P e SR
F E 5 B O#E 5 B gl Rk
L SFI064£09 H 13 H ETEREL 73 b (Biir)
fh 4 PE Hi =0 | ke | fEEK Sy e il e g1
X R AbifEE 10. 00| AHxf 300 3,0000 2,160 2,106| 2,052
N AbifEE 10. 00| AHxf 420 4,2000 2,052| 1,686 864
HOR ™ 5 5. 00| FHx} 10 50/ 2,808 2,009 1,080
HoOX £ ¥ 15. 00| AH%F 125 1,875| 3,456| 2,659| 1,944
XD BB 10. 00| FHxf 450 4,500| 1,156| 1,099 756
E O NAK B 4. 00| FH*} 1 4 5, 832
H A = 3. 00| FH*} 198 594| 1,944| 1,504 1,188
H A ] 1L 1. 00| FH%f 170 170 2,376 2,127 1, 890
23 K 5. 00| FH%F 45 225| 3,240 2,743| 1,296
g | 0.40| FERF | 60 304 200] 180 124
LE L =g 4. 00| FHx} 565 2,260 3,240| 2,732 1,728
N e 5. 00| FH%F 13 65| 2,916 2,526 1,620
g | 5.00] FAAF| 523| 2,615 3,024| 2,533 1,512
v— =g 0. 15| FHx} 3, 000 452 130 124 119
N7 k= R AbifEE 3. 00| FH*} 301 903| 3,456| 3,197 2,160
ot AbifEE 0. 10| FHxf 40 5 270
oz w5 5. 00| fHxt 60 3001 2,160 1,998| 1,836
A= 4 AbifEE 10. 00| AHxf 1, 160 11,600 3,240 1,985 1,080
B F =g 10. 00| AHxf 58 580| 4,644| 3,516| 2,808
£ A il | 2000 | KR 85 1,700{ 2,700 2,643 2,592
OB | 10,00 4B%E| 121 1,210| 2,268 2,135| 1,728
LA A £ ¥ 10. 00| FH%f 1, 050 10,500| 3,456 1,188
P=—rF £k ¥ 4. 00| FH*} 490 1,960 3,780 2,916
AEHEE w5 0.10| fHx%f | 3,400 340 162 99 54
ZDXH B g 0. 20| FHx*} 1, 560 312 86 79 67
LU B 5t 0. 20| FHx} 450 90 92




ID:1210 P- 2

P e SR

F E 5 B O#E 5 B gl Rk
R SFI064£09 H 13 H 5| v (g 18 + (Blir)
ih A PE Hi = Weoe | % Sy e il e g1

oK A 10. 00| fHxf 1,195 11,950 4,860| 4,401| 3,456
B i 5 10. 00| AHxf 200 2,000 5,940| 4,244| 3,240
B A — % ] L 2. 00| FHx*} 79 158| 2,484| 1,869| 1,080
LIPS Tk L 0. 30| FHx*} 1, 320 395 367 313 184
/NEPEK e 10. 00| FAxF 100 1,000 4,860| 4,493| 3,240
v 7 4 UE | 13.00| fHx%F 11 143| 3,726| 3,574| 3,132




